Probability plot of RESl1 for Adult O. strigicollis fed On B. tabaci nymphs.
[bookmark: _GoBack][image: Probability Plot of RESI1]
[image: ]Fitted Line Plot for Adult O. strigicollis fed On B. tabaci nymphs.
Normal Probability plots for Adult O. strigicollis fed On B. tabaci nymphs.
[image: Normplot of Residuals for y]
[image: Normplot of Residuals for y]Normal Probability plots for 3rd instar O. strigicollis fed On B. tabaci nymphs.
 Fitted Line plots for 3rd instar O. strigicollis fed On B. tabaci nymphs.

[image: ]
Probability plot of RESl1 for 3rd instar O. strigicollis fed On B. tabaci nymphs.
[image: Probability Plot of RESI1]

Normal Probability plot for Adult O. strigicollis fed On T. vaporariorum nymphs. [image: Normplot of Residuals for y]
[image: ]Fitted Line plots for Adult O. strigicollis fed On T. vaporariorum nymphs.
[image: Probability Plot of RESI1]Probability Plot of RESl1 for Adult O. strigicollis fed On T. vaporariorum nymphs
Normal Probability plot for 3rd instar O. strigicollis fed On T. vaporariorum nymphs.
[image: Normplot of Residuals for y]
Fitted Line plot for 3rd instar O. strigicollis fed On T. vaporariorum nymphs.
[image: Fitted Line: y versus x]

Probability Plot of SRES1 for 3rd instar O. strigicollis fed On T. vaporariorum nymphs.
[image: Probability Plot of SRES1]

image7.png
Percent

£

s

0

)

50
50

0
20

Normal Probability Plot

(response is y)

o
Standardized Residual




image8.png
028

025

024

022

020

08

06

0

0

0002 0003 0004 0005 0005 0007 0008 0003 0010

Fitted Line Plot
¥ = 007374 + 1836 x

x

oon

s
Rsq
Resafadi)

oo0ss252
ore%
s70%




image9.png
Percent

Probability Plot of RESI1
Normal - 95% CI

£
Mean 46334677
Soev  oo07sBe

s N A

w 0 ous
Pvaiue 0s2¢

)

o

50

50

r

0

20

0

1
00¢ 002 002 001 000 001 002 003 004

RESI




image10.png
Percent

£

s
0

)

50
50

0
20

0

Normal Probability Plot
(response is y)

Standardized Residual




image11.png
0300
0275
0250

>
0225
0200
ors

0150

Fitted Line Plot
¥ = 01018 + 1924 %

s 000sses3
Rsq 0%
Rsqad) 9%

0002 0003 0004 0005 0005 0007 0008 0003 0010 00T

x




image12.png
Percent

£

s
0

)

50
50

0
20

0

Probability Plot of SRES1
Normal - 95% CI

Mean 005594

S 1082
N s
0 0

Pvave 0952




image1.png
Percent

Probability Plot of RESI1
Normal - 95% CI

B
Mean 231236817
Swev 0005891

s N s

gu 0 0330
Pvalue 0378

£

o

£

50

r

o

2

o Vi

° /

/
\ /
00 w02 oo 000 oor 002 002

RESI




image2.png
Fitted Line Plot
¥ = 008993 + 16.91 x

23 s 0o0ssss
Rsq s85%
Resafadi) sar%

0250

0225

0200

s

0150

0002 0003 0004 0005 0005 0007 0008 0003 0010 00T

x




image3.png
Percent

£

s
0

)

50
50

0
20

0

Normal Probability Plot

(response is y)

o

Standardized Residual




image4.png
Percent

£

s
0

)

50
50

0
20

0

Normal Probability Plot

(response is y)

o
Standardized Residual




image5.png
Fitted Line Plot
¥= 01022 + 15.90 x

23 s 0008222
Rsq s82%
Resafadi) s73%

0250

0225

0200

s

0150

0002 0003 0004 0005 0005 0007 0008 0003 0010 00T
x




image6.png
Percent

Probability Plot of RESI1
Normal - 95% CI

£

Mean o
Stoev 0005932
N &
0 e
Pvawe 0195

s
0

)

50
50

0
20

00 002 oo 000 o 002 003
RESI




